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Instructions for Candidates 

1. Write your Roll No. on the top immediately on receipt of this question paper. 

2. Attempt any three questions. 

3. All questions carry equal marks. 

4. Answers may be written in Hindi or English but the same medium should be 
followed throughout the paper. 
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1. (a) Provide a description of the Solow Swan growth model. 

(b) What do you mean by dynamic inefficiency ? 

(c) Does the Solow Swam model meet the criterion of dynamic efficiency? 

Discuss in detail. (1 0+5+ 1 0) 
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2. (a) Use a simple model to illustrate the principle of Ricardian Equivalence. 

(b) Does Ricardian equivalence hold for the Ramsay growth model. (15+ 1 0) 

3. (a) Illustrate the Lucas critique of the policy ineffectiveness proposition using a 

model based on wage rigidities. 

(b) Discuss the effects of an investment subsidy under constant real wages and 

perfect competition in the goods market with the investment model due to 

Tobin. ( 15+ 1 0) 
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4. (a) Discuss the Diamond Samuelson model of economic growth. 

(b) Discuss the possibility that the Diamond Samuelson model can be dynamically 

inefficient. (15+ 1 0) 

(~) slllJiO$ ~~ ~ cfi Ji~lflfCfl ~ ~ ~ ~ ctT ~ CfiT ~ 

~I 

(800) 

0 


	001
	002

